Vesna Kovačić, OŠ Tužno, Radovan
Izračunaj.

1. 73 854 + 2 308 – 16 732 + 8 431 =

2. (17 842 – 9 378) + (43 851 – 19 305) : 3 =

3.  8 451 + (772 432 – 435 870) + (7 485 – 849) · 2 =

4. 99 873 : 9 + 89 474 : 14 =

5. 359 481 – (735 809 – 638 785) – 64 · 5 – 940 : 5 =

6. 813 489 + 185 · 7 + (75 001 – 69 099) + 20025 : 5 =

7. 41 395 : 85 + 72 839 + (458 732 – 453 972) · 18 =

8. [(5 843 + 7 843) · 12 – 81 458 + 930 : 5] : 5 =

9. 17 835 + 3 · [12667 : 53 + (73 289 – 4 875) + 4 865] =

10. [2 483 + 5 · (808 739 – 791 963) – 6 879 + 8 432 · 2] : 2 =
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